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Q1: How we can doing the following using biotechnology: (5 mark)
a- Clean the environment
b- Improve vaccines

Q2: answer the following: (5 mark)

a- Describe how restriction enzymes meet a human need or demand.

b- What are plasm
incloning? e,
Q5: (6 mark)
a- Define anion and cation exchanger. What are'the differences between them?
" b- What are the main steps in one PCR cycl?') ]
c- Talk about colony RT-PCR '
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Date: / /2017
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Department of mathematics 11 06, 2017
and computer applications
((Assessment of the final exam for the Second semester))
Academic year 2016 -2017
Note : 12 marks for each question(answer 5 only)
Ql:=Show  that Var(y)= ElVar(y/x)|+Var[E(y/x] ?
xX+y X = 1,2,3
Q2 :—Supposethat f(x,y)=| 21 =12 find F(y/x) ?
0 oW,
~(x?+y%)
Q3:-Let the jpdf f(x,y)= [gxy ) VSl ,Are X and Y independent ?
, ow.

Q4:- If X be ar.v. with m.g.f. My(t), a and b are any two constants ,prove that
DM, (t) = M, (bt)

DM (6)=e? M_(L)
zra b

Q5:- Three light bulbs are chosen at random from 15 bulbs of which 5 are defective , find the probability
that

A=No one is defective ?
B=Exactly one is defective ?
C=At least one is defective ?

Q6:- A box contains black and white balls , each ball is labeled either A or Z . the composition of the box
is shown below:-

Label | Black | White
A 5 3 8
Z 1 2 3
6 5 11
Let us now assume that a ball is to be selected at random from this box .what is the probability of getting
a black ball if it was labeled A ? ; ¥
NI Best of luck
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Note : 12 marks for each question(answer 5 only)

Ql:=Show  that Var(y)= EVar(y/x)|+Var[E(y/x] ?

x+ y X = ],2,3
Q2 : —Supposethat  f(x,y)=| 21 ,v=12 find F(/x) ?

0o ow.

—(x2 4y

Q3:—Let the j.pd.f f(x’y)zl::xy )

, oW.

O0<xy ,Are Xand Y independent ?

Q4:- If X be ar.v. with m.g.f. My(t), a and b are any two constants ,prove that
M, (t) = M, (bt)

DM (6)=e? M. (L)
xia b

Q5:- Three light bulbs are chosen at random from 15 bulbs of which 5 are defective , find the probability
that

A=No one is defective ?

B=Exactly one is defective ?

C=At least one is defective ?

Q6:- A box contains black and white balls , each ball is labeled either A or Z . the composition of the box
is shown below:-

Label | Black | White
A 5 3 8
Y4 1 2 3
6 5 11
Let us now assume that a ball is to be selected at random from this box .what is the probability of getting
a black ball if it was labeled A ? G
e Best of luck



